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Remi der !!!

Whenever yvou see the
words Parallel &
Perpendicular think

slong
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Warm | nestions

Find the equation of a line parallel to 3y=4x-1
and passing through the point (4,2).

Determine the equation of a line

perpendicular to 4x+5y=7 and having
the same x-intercept as 10x+7v=-20.

Determine the equation of a horizontal

line passing through the same point on
the y-axis as 3y =6x -9
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Find the equation of a line parallel to 3y=4x-1
and passing through the point (4,2).

e

Parallel - (Same Slope)Y] m=y,-y;
Xy - X1
Jy=4x-1
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Determine the equation of a line
perpendicular to 4x+5y=7 and having
the same x-intercept as 10x+7y=-20..~
slope: 5/4 ™M= 5
point: (-2, 0) X,= -3 S.ZO
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Determine the equation of a horizontal
line passing through the same point on
the y-axis as 3y = 6x - 9 (3;&’??)

slope: m = .C%
point: (0,-3) X.=O g, =72
()G)% - e® o oxe? =
J\%é/e}y S R (N - v (X-X
orizontal Line 33: ox-4 = 3 3 i L o (7(-—(;\
Slope = 0/1 3= 6oyH N7 A
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® Gwn
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® Gwen.
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M(39 5) U(_Za '1) D(Oa '4)
Find the equation of a line

parallel to MD and passing
through U.

slope:

point:

(G-
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